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Choose the correct answer as follows b Lad Aazaall 4y 5l

lim(4x — 10) = gowd lim(4x — 10)
x—5 x—5
1
-10 d 20 C 10 b 5 a
= x2_4 - - x2_4' - o v e
Calculate lim = ssd lim Al dagd
x—2 Xx—2 x—2 X—2 2
.'A -
TRy 4 c _4 b 2 a
Does not exist
. x*—4x-5 R x2—4x-5 . .. . .
Calculate lim——— Equal sobed lim —— 4l da
x—5 x-5 x—5 x-5
3
1
— d 6 c 5 b 2 a
6
From the opposite figure be ling flx) = bt lin(} F(x) QS5 Jiiall JS&d) (pa
X— X—
1
i Y
T
<ll|_ ANEEA
. 4
) 0 X
c
5y .
RRE 3 1 b 0 a
Does not exist
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From the opposite figure be lim f(x) = g lim f(x) QoSS Jiiall J&d)
X—C X—C
Y =

ﬁ\,\ﬂx

/ ol ¢ 5
.'A -
e J&. d 0 c L b c a
Does not exist
From the opposite figure be lin(} f(x) = §Sbus lin& f(x) Jaal) J&d) ya
x— x—
6
Basasa

Does not exist

(0505435770)SARHAN ALJARRAH 12G TERM3 CH11 2020/2021
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2 2021/2020 Ul o) jal) Jucdl) Gl ) 2 Balal)
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From the opposite figure be lim2 f(x) = § lim2 f(x) JBal) Js&l) G | 7
x—— x——

Bagasa

Does not exist d 0 ¢ -1 b 4 a

LS 1)

»+3 ,x<1

WART 13 —
e fimfe o o ={3. 77 0 T3]

o= IS ae miws
D:;fn?tﬁiist d 1 c 3 b 4 a
s lim f() 8 @ ={F *3 22
If f(x):{;i::i j i;i , then )}Lrln_f(x): 9
Dcf;ﬁitﬁiist d 1 c 3 b 4 a
(0505435770)SARHAN ALIARRAH 126 TERM3 CH 11 2020/2021
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2 2021/2020 LN if jall Juadl)
050-5435770 gl daaa Gl

(aadl) Lde JBY il |
cladaly )+ Balall
(EEaa) o clilgd) ) 11 3aa gl

3
M = .& — X +3 ,x<1.~~u‘3‘
€ lll?f(x)u‘ f@ {2x+1 ,leu"
3
x>+ 3 x<1 . 10
X) = ’ , then limf(x) =
fx) {2x+1 , x>1 x—>1f()
ISy 1 c 3 b 4 a
Does not exist

From the opposite figure be lim6g(x) =
xX—>—

bt lim6 g(x) Jaa) JSa) o
xX——

__ I
A 8 Y1 AR ’_LT
| £8()
4
-« PAR ™
=8 |40 | 4 | 8«
)
i
TS 11
IX) <
s J:c. d —4 [ —00 b 00 a
Does not exist
= _2 - - - it .
Calculate lim—; s lim— Al
x—-0 X x-0 X
12
IX) <
ey 0 ¢ —o b o0 a
Does not exist
Calculate  lim x%+x-22 s lim x%+x-22 Al dad
alculate —_— T - o
x—oo x3-13 e x>0 x3-13 13
Bagaga & | d 0 C —00 b o0 a
(0505435770)SARHAN ALJARRAH 12 G TERM3 CH 11 2020/2021 n
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From the opposite figure be lim f(w) = gk lim f(w) Jilal) JS&) (e

400 14

\\
N,
200 N
0
2 4 b6 8 W

3 s
>R . d 0 c — b 0 a
Does not exist
o . 1 R 1 .. L
From the opposite figure be lim cos- = g9d limcos= Sl JS& e
x-0 X x—0 x

~ 15

e JP. d 0 C —00 b 00 a
Does not exist
Calculate lim1 Vx+3 = XL lim1\/x + 3 Al dagd
x—— e
16
+V2 d 2 c 2 b V2 a
Calculate lin‘}(x3 —3x2 —-5x+7) lin‘}(x3 —3x2 —5x+7) Gl dad| 17
X— P
0 d 64 c 3 b 4 a

(0505435770)SARHAN ALJARRAH 12G TERM3 CH11 2020/2021
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. (ehd\) J&s‘.g}m\:d*d\
2 2021/2020 &) ol yal) Jadl) Gluals ) = Baladl
050-5435770 )l eaa s (S 5 gl ) 11 Baagl)
19
. x’-x-6 . X2—Xx—6 .. .. .
Calculate lim = ssd lim Algil) dagd
x—3 x—3 x—»3 x—3
5 ; 1
AL 5 c s ’ 0 a
Does not exist 5
N x—5 x—5 . . e
= s i agleil) 48
Calculate !}l‘s‘xz—zs gsbed lim 5— Al day
20
- . 1
NTE 10 c — b 0 2
Does not exist 10
. Vx+3-3 . Vx+3-3 .. . . .
Calculate lim = = s lim Al Ll Aad
x—6 X—6 x—>6 X—
S'U%S‘Jéé 1
Does not exist | d 6 C — b 0 a
6 21
lim (4x° 4+ 3x°> — x)
X——00
22
Bagage £
Does not exist d 0 ¢ - = * a
’ 4x3 +5x—1
1m 23
xs0  2x3 47
2 d 0o C 0 < 4 a
(0505435770)SARHAN ALJARRAH 12G TERM3 CH 11 2020/2021 n
o




(aladl) e JE : Ciall
2 2021/2020 Ul o) jal) Jucdl) Gl ) 2 Balal)
050-5435770 )l daaa Gla (e g clilgdl) ) 11 sas gl

24
’ 2x3 — x?
1m
x—o 3x% —1
2
—0o0 d o) c 0 < — a
3
s (3,2) dadil) aie y = x? Fadall Guleall i
2 . 25
The Slope of tangent to curve y = x“ , at the point (3,2)
12 d 9 c 6 b 4 a
40 ¢ ey 228 3 ) g ) () = —168% 4+ 95¢ + 15 Adal) Jiai Cuay el 5 8 cddd
St =25 t =15 (bl 83 Sl agaiall Ao gial) de i) La
Throw a ball up so that the function h(x) = —16t? + 95¢ + 15 represents the
height of the ball in feet after t seconds. What is the average velocity of the
spherefrom t = 1s to t = 2s ? 26

47ft/s d| 4.7ft/s C 470ft/s b 25ft/s a

(0505435770)SARHAN ALJARRAH 12G TERM3 CH11 2020/2021
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he threw a coin towards the ground and the height of the coin was given by

the relationship h(t) = 30 — 16t Find the instantaneous velocity after 2s ?

gL S 5 Gl gad ki dakd e U ey 30t oWy Al o) ) lab sa
¢ 25 g dbaall) Lgaial) de pud) 2agl h(8) = 30 — 161% ABlally any 45381 dakadl)
Salman climbed to the top of the building with a height of 30ft and from there

64ft/s

30ft/s

—-32ft/s

—64ft/s

27

If f(x) =x3+2x

then f'(x) =gswd f(x) ¥ f(x) = x® +2x «is )y

3x% + 2

d

3x+2

C

xz +2

b

3x% + 2x

a

28

Derived function g(x) = 3x*(x + 2)

gx) = 3x4(x + 2) ad)al) daiia

12x* + 23

d

3x° + 6x*

C

15x* + 2443

b

3x* + 23

a

29

If y=-

X

d
then 2 =
dx

. d
S sl it
dx

X

5
_xt

x6

5

x©

5

x4

30

There is a critical point for the function f(x) = 2x* + 8x

goi x die [—5,1] 588 Je f(x) = 2x% + 8x WAl 4y o ddali 2 g

over the period [—5, 1] when x is equal 32
-2 d 4 c 2 b 8 a
33
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i |

il




2 2021/2020 LN if jall Juadl)
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st [0,3] 848 o g(x) = a3 — 3x? + 3 AIall alial) dasal)

The maximum value of g(x) = x> — 3x% + 3x , over the period [0,3] is equal

3 d 8

C

9

b 0 a

The minimum value point of the function

goai [1,4] 3480 o 7(E) = t* + 662 — 2 Al 5 juall Aagdl) Ak

over the period [1,4] is equal

r(t) =t*+6t>—2

7x—10 . “
s j(x) = Adlal) Adidia
¢J ]( ) 12x+5
The derivative of the function (x) — 7x-19 is equal
ivativ uncti = i
J 12x+5 qu
35
55 —155 155 155
—_— d —— | ¢ b| ——— |a
(12x + 5)2 (12x + 5)2 12x + 5 (12x + 5)2
Derivative h(x) = (-7x* +4)(2—x)? Sh(x) = (-7x2+4)(2 — x) 4iida 36

21x* —28x—4 d —14x

14x

b —21x%2-28x+4 a
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2T 7l 3 gnanall Adkaial) dabluce Julial) JCEIL Alaiall
24
16 X 0550 9 f(x) = —x% + 12x Aadall o 37
il Lo A5 (5 gl cBdaiina 4 Jlaninly [0, 12] 3540 e
RS EE R

Using the corresponding figure, the area of the confined area
Between the curve f(x) = —x? + 12x and the x-axis

Over the period [0, 12] using 4 rectangles is approximately equal

290 d 286 c 280 b 270 a
The integration value f03 x. dx is equal G f03 x.dx aal) Jalsil) dad 38
3 d 2 c 4.5 b 3.5 a

god fx) = 6x  ANall Ay A

The antiderivative function of f(x) = 6x is equal 39
3x+ ¢ d 3x%+¢ c 6x% + ¢ b 6+c a
v =10 dtay de
soei f(2) = 5 Al Dby Ay
The antiderivative function of f(x) = g is equal 40
5 p 10 5 b 5
—;-FC —?-I‘C C x—Z+C —F+C a
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e e e e e e e !
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(aadl) Lde JBY il |
cilual Y ; salall

s(t) after t seconds is equal

olaily 100t 4sU)) siade (398 (e paddi Wy S8 AN Ao pud) p(E) = —32¢ A Jia
G obuidt Agls ¢ 3y s(t) peddll ad gal) Ay G plal) pdan
The function v(t) = —32t is the speed at which a person has jumped off a 41

100 ft slope toward the water surface so the position function of the person

—16t% + 32

—16t?

16t%* + 100

b| —16t*> +100 | 3

approximately equal

Ly A5 (g sbeadt SikBal) JSANL iaial) cnd ALEAY Aihaial) Aabuss

The area of the shaded area under the curve in the opposite shape is

|‘1/ = —x2 4 4x + 6|

42

34.76

30.53

24.80

b 32.76 a

¢ K dad Lad

If foz k.xdx = 6 then what is the value of k ?(i.e. k is constant number) 43

2 .
Jo kexdx =6 s

4

d

3

C

2

b 1 a
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st [P0 +2).dx s Jalsil Aud | 44

The integration value f06(x +2).dx is equal

45 d 23 C 13 b 30 a

L0 (g sbedd JilBal) JSANL daial) ciad Allal) dihaial) Aol
The area of the shaded area under the curve in the opposite shape is

approximately equal

AY F(x) =— x24 8x —10
6__‘
a- G
N 0 1
22— i H
1 i
1T 1 i 45
.
o o 4 G
12.33 d 10.33 c 9.33 b 11.33 a
so [ 4x3dx e
The integration value f4x3 dx is equal
46

4x* + ¢ d x+c C x2 +c b| 12x*+c¢ |a

J2445lLs oGl guilaiodiy yilaadi 2o
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